AT RA > bhL S -

&84 = =0 el E— I oo ] = O = p=le]
KRIL/H 1-0/M I1-0/KRL RL/H TRV R/ SRV KRV NZRIL./FH TRV R/KRIL By k/H
(=tt) (=tt) (=tt) (=tt) (G2 (=tt) (=tt) (i=tt) (=tt)
H5H iEH | 45H% | % 8 7 8 7 8 75 8 7 = 7 = 7 8 7 8 b 8
9H1B|X 1 -810 30 10 -233 222| -1,110 -459 20 -668 10 0 -979 -499 31 112| -1,103 -160 60
9H2H|K 1 -811 30 10 -232 222 -1,108 -459 20 -669 10 0 -979 -501 31 112| -1,105 -162 61
9R3H|A 3 -812 30 10 -232 222| -1,105 -457 20 -669 10 0 -976 -503 31 112| -1,105 -161 60
9R4B|& 1 -809 30 10 -230 220] -1,102 -457 30 -657 10 0 -954 -527 70 110| -1,086 -160 60
9H5H|L 1 -810 30 10 -230 220] -1,102 -458 30 -658 10 0 -956 -528 70 110 -1,086 -162 61
9H6H|H
9R7H|A
9H8H|X 1 -810 30 10 -230 220| -1,100 -458 30 -652 10 0 -955 -526 70 109| -1,077 -161 60
9R9H|K 1 -808 30 10 -228 218| -1,094 -453 30 -641 10 0 -945 -519 69 107| -1,060 -158 59
9H108|A& 3 -809 30 10 -229 219] -1,098 -458 30 -643 10 0 -955 -525 70 108| -1,063 -162 61
9A11H|& 1 -809 30 10 -229 219] -1,099 -456 30 -634 10 0 -951 -522 69 106| -1,047 -159 60
9H12H|* 1 -810 30 10 -230 220 -1,101 -470 40 -659 10 0 -960 -529 70 110| -1,086 -161 60
9H13H|(H
9H14H (A
9R15H|X 1 -807 30 10 -230 220] -1,099 -469 40 -659 10 0 -958 -531 70 110| -1,086 -161 60
9H16H (K 1 -805 30 10 -229 219] -1,094 -468 40 -659 10 0 -957 -530 70 110 -1,087 -163 61
9H17H|K 3 -801 29 10 =227 217| -1,087 -466 40 -660 10 0 -953 -529 70 110 -1,089 -164 61
9H18H|& 1 -799 29 10 =227 217 -1,087 -465 40 -659 10 0 -952 -530 70 110| -1,087 -165 62
9H19H|L 1 -798 20 10 -229 219] -1,097 -467 40 -657 ©) 0 -955 -527 70 109 -1,085 -158 50
9H20H|H
9H21H|A
9H22H|X 1 -799 20 10 -228 218] -1,092 -464 39 -652 9 0 -947 -521 69 109| -1,077 -154 58
9H23H|K 1 -801 20 10 -227 218] -1,089 -461 39 -650 9 0 -942 -519 69 108| -1,073 -155 58
9R248|AK 3 -804 20 10 =227 217] -1,089 -457 39 -652 9 0 -933 -515 68 109| -1,076 -152 57
9R25H|& 1 -804 20 10 -228 218] -1,090 -455 39 -653 9 0 -930 -515 68 109| -1,079 -154 58
9H26H|L 1 -806 20 10 =227 217( -1,088 -455 39 -654 9 0 -929 -516 68 109| -1,080 -152 57
9H27H|(H
9H28H|A
9R29H|X 1 -806 20 10 -230 220| -1,100 -462 39 -660 10 0 -944 -520 69 110 -1,091 -154 58
9H30H[K 1 -798 20 10 -229 219] -1,095 -471 40 -662 10 0 -962 -531 70 110 -1,093 -161 61

XASHOEERE, RS2 ZRTEEANSFEL. BABEFAI7E (EREHRTFRIcHR) 2FVHEa(Cd5EN2REETY,
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2T RA LA~

BI=H

158 IEH | #58% | 7 B 5t B 5% 5t B 5t 5t B 55 B 55 = 5% =
9A1H|N 1 202 -697 0 -691 -343 41 10 -999 -800 0 -293 -193 -351 90 -143 -479 40 -402
9H2H (K 1 202 -695 0 -694 -342 41 10 -997 -800 0 -294 -193 -350 90 -143 -479 40 -400
9A3H|K 3 201 -694 0 -697 -344 41 10 -995 -802 0 -294 -193 -350 90 -143 -478 40 -400
9R4H (& 1 230 -722 0 -676 -338 40 10 -993 -800 0 -289 -189 -318 60 -139 -467 40 -402
9A5H|L 1 230 -122 0 -677 -340 40 10 -993 -800 0 -289 -189 -317 59 -139 -469 40 -400
9H6H(H
987H|B
9H8H (X 1 230 -721 0 -674 -339 40 10 -991 -800 0 -287 -188 -317 60 -139 -468 39 -399
9H9H (K 1 228 =717 0 -665 -335 39 10 -985 -798 0 -282 -184 -315 59 -138 -463 39 -397

9A10H (K 3 229 -719 0 -673 -338 40 10 -989 -800 0 -283 -185 -315 59 -139 -468 40 -400
9A11H|& 1 229 -720 0 -669 -336 39 10 -989 -799 0 -279 -182 -317 59 -139 -466 40 -401
9A12H|x 1 230 -720 0 -679 -340 40 10 -990 -800 0 -289 -189 -458 199 -140 -470 40 -400
9A13H(H

9H14H(A

9815H|X 1 230 -719 0 -681 -339 40 10 -988 =797 0 -289 -189 -456 198 -139 -469 40 -399
9A16H [K 1 229 -716 0 -680 -337 40 10 -984 -795 0 -290 -189 -454 198 -139 -468 39 -398
9H17H|XR 3 227 -711 0 -679 -336 40 10 -977 -792 0 -290 -189 -451 196 -139 -466 39 -396
9A18H|& 1 227 -711 0 -680 -336 40 10 -978 -790 0 -289 -189 -447 194 -139 -465 39 -395
9A19H|x 1 229 -718 0 -676 -338 40 10 -987 -798 0 -289 -189 -457 199 -140 -467 40 -398
98208 |8

9H218(A

9H22H(X 1 228 -715 0 -668 -336 39 10 -982 -799 0 -287 -188 -455 198 -138 -464 40 -397
9H23H K 1 227 -713 0 -666 -337 39 10 -979 -801 0 -286 -187 -454 197 -138 -461 40 -396
9A24H (K 3 227 -713 0 -660 -336 39 10 -979 -804 0 -287 -188 -453 197 -136 -457 40 -396
9825H|& 1 228 -713 0 -660 -337 39 10 -980 -804 0 -287 -188 -458 199 -136 -455 40 -395
9A26H|x 1 227 -712 0 -661 -337 39 10 -979 -806 0 -288 -188 -456 198 -136 -455 40 -394
9A27H(H

9H28H|8

9829H (X 1 230 -720 0 -667 -337 39 10 -989 -806 0 -291 -190 -448 195 -138 -462 40 -399
9A30Hd [k 1 209 -697 0 -681 -341 40 10 -986 -798 0 -290 -191 -415 152 -141 -471 40 -398

XTSHOEERE RS2 2RIEEBNSEREL. BARRMFRI7EE (EREFETFAI6R) 2FtWHEE(CH5EN3& ETTY.

XARED-ZF10FBE AL, AN -32J0-2 31 HBEHEUOEEETT.
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2T RA LA~

BI=H

158 IEH | #58% | 7 B 5t B 5% B 5t 5t B 5t B 55 B 5t = 5% =
9A1H|N 1| -1,040 300 142 -786 20 -527 -541 61 81 -636 =776 10 -122 -537 -668 122 -20 -428
9H2H (K 1| -1,040 300 141 -785 20 -528 -541 61 81 -635 -775 10 -122 -537 -669 122 -20 -428
9A3H|K 3| -1,043 301 141 -783 20 -527 -539 61 81 -633 =773 10 -122 -537 -669 122 -20 -427
9AR4H (& 1| -1,038 299 141 -783 30 -529 -527 59 81 -632 -773 10 -120 -529 -657 120 -20 -417
9A5H|L 1| -1,039 300 141 -182 30 -529 -528 60 81 -632 =772 10 -120 -529 -658 120 -20 -418
9H6H(H
987H|B
9H8H (X 1| -1,039 300 141 -781 29 -525 -527 60 80 -630 =771 10 -119 -525 -652 119 -20 -418
9H9H (K 1| -1,037 299 140 =777 29 -516 -522 59 80 -627 -767 10 -117 -516 -641 117 -20 -413

9A10H (XK 3| -1,039 299 140 -780 29 -518 -527 60 80 -629 -770 10 -117 -518 -643 117 -20 -418
9A11H|& 1| -1,038 299 140 -780 29 -510 -525 59 80 -630 =770 10 -116 -510 -634 116 -20 -416
9A12H|x 1| -1,040 300 140 -781 30 -528 -530 60 80 -630 -770 10 -119 -528 -659 119 -20 -420
9A13H(H

9H14H(A

9815H|X 1| -1,036 299 139 =779 30 -528 -529 60 80 -628 -769 10 -119 -528 -659 119 -20 -419
9A16H K 1| -1,033 298 139 -776 30 -529 -528 60 80 -626 -766 10 -120 -529 -659 120 -20 -419
9A17H|XR 3| -1,029 297 138 =770 30 -530 -526 60 79 -621 -760 10 -120 -530 -660 120 -20 -417
9A18H|& 1| -1,026 296 138 =771 30 -528 -525 60 79 -622 -761 10 -120 -528 -659 120 -20 -416
9A19H|x 1| -1,038 299 140 -778 30 -527 -527 59 79 -628 -768 10 -119 -527 -657 119 -20 -418
98208 |8

9H218(A

9H22H(X 1| -1,038 299 139 =774 30 -523 -523 59 79 -625 -764 10 -118 -523 -652 118 -20 -414
9H23H K 1| -1,041 300 139 =172 29 -521 -520 59 79 -623 -762 10 -118 -521 -650 118 -20 -412
9A24H (K 3| -1,045 301 139 =772 29 -523 -515 58 79 -623 -762 10 -118 -523 -652 118 -19 -408
9825H|& 1| -1,046 302 139 =172 30 -524 -513 58 79 -624 -763 10 -118 -524 -653 118 -19 -407
9A26H |t 1| -1,047 302 139 =771 30 -525 -513 58 79 -623 -761 10 -118 -525 -654 118 -19 -407
9H27H(H

9H28H|8

9829H (X 1| -1,048 302 140 =779 30 -530 -521 59 79 -629 -769 10 -120 -530 -660 120 -20 -413
9A30Hd /K 1| -1,038 299 140 =777 30 -531 -531 60 79 -628 -766 10 -120 -531 -662 120 -20 -421

XTSHOEERE. RS2 2RIEEBNSFREL. BARRFRI7E (EREFETAI6R) 2FWISECH5EN2E ETY. (REHOH3BDIMISENET,)
XARED-ZF10FBE AL, AN -32J0-2 31 HBEHEUOEEETT.



2T RA LA~

B = =] ax i+l E-Hlel = o] e = o] EELe | FES
NZFIL/ZAZ | NZFIL B398 BRY,/H KEIL/F 1-0// I-0/%FL RN/ R K/ EISWZII
G2 G2 () C2)) C=2) Ca=) C=2) CR)) CR))
55 BH | 4588 | 5T B 75 B 75 B 75 B 7 B 75 B 75 B 75 B 75 B
9A1H|X 1| -e74f 122 ol -376] -130 60 -81 3 1 23 22| 11| 46 2| 67 1 o -98
9A2H |k 1| -878] 122 ol -377| -131 61| -8l 3 1 -23 22| 111 46 2| 67 1 o -98
9A3H|A 3 -ss2| 123 of -379| -132 61] -8l 3 1 23 22| 111 46 2| 67 1 o -98
9A48|%& 1| -8s4| 119 o| -368] -130 60  -81 3 1 23 22| -110[ 46 3| -66 1 o -9
985H|+ 1| -856[ 119 o -368[ -131 61 -81 3 | 23 22| -110] 46 3| 66 1 of -9
9H6H|H
9R7H|R
9A8H|X 1| -8s2| 119 o -367| -131 60  -81 3 1 23 22| -110[ 46 3| 65 1 o -9
989H |k 1| -ss1| 117 of -362] -130 60 -81 3 1 23 22| -109[ 45 3| 64 1 of -9
9A10H [A 3 -850 119 o -366| -132 61  -81 3 1l 23 22| -110[ 46 3| 64 1 o -9
9B118|& 1| -s46| 118 o -364f -132 61 81 3 1 23 22| -110[ 46 3 63 1 of -9
98128 |+ 1| -8e0[ 120 o -370] -131 60/ -81 3 E 22| -110] 47 4 -66 1 ofl -9
9813H|H
9A14H|A
98158 |X 1| -s61f 120 of -371f -131 61| 81 3 1 23 22| -110[ 47 4l -66 1 o -9
9A16H|K 1| -861f 120 o -370] -131 60  -80 3 1l 23 22| -109[ 47 4l -66 1 o -9
98178 |AK 3 859 120 ol -370[ -131 61 80 3 1 23 22| -109[ 47 4l -66 1 of -9
9A18H|& 1| -860[ 120 o -370] -131 61  -80 3 1l 23 22| -109[ 47 4l -66 1 o -9
9819H|+ 1| -855[ 119 o -368[ -128 59|  -80 2 | 23 22| -110] 47 4l -66 1 of -95
9H208|H
9A21H|A
9H22H|X 1| -845| 118 o -364] -127 59|  -80 2 1l 23 22| -109[ 46 4l -65 1 o -9
9A23H [k 1| -s42| 118 o -363] -125 58  -80 2 1 23 22| -109[ 46 4l -65 1 of -9
9A24H [ & 3 835 117 o -360] -122 56  -80 2 1l 23 22| -109[ 46 4l -65 1 o -93
98258 % 1| 835 117 ol -360[ -123 57| -80 2 1 23 22| -109[ 46 4l -65 1 of -93
9H26H |+ 1| -836| 117 o| -360[ -122 57  -81 2 1| -23 22| -109] 45 4l -65 1 of -93
9H27H|H
9H28H|H
98298 |X 1| 843 118 o -363] -122 56|  -81 2 1 23 22| -110[ 46 4l -66 1 o -9
9A308 |k 1l -852[ 110 of -371| -132 61| -80 2 1 23 22| 110 47 4l -66 1 o -9

XTSHOEERE. RS2 2RIEEBNSFREL. BARRFRI7E (EREFETAI6R) 2FWISECH5EN2E ETY. (REHOH3BDIMISENET,)
XAREI-RFL0BEE R, AN -2J -1 HBEEAOEERTY,




2T RA LA~

=M [ o] SRE= p=le] [ ] = I+1 o] [ B8 = v] =l
NZRIL/H BRY R/ HKRIL mr77>R/H I1-0/%RL NZRIL/ KRV hFHRIL/H I1-0/%ARVR KRV DFFRIL RV R/ BRIV
(ZN)—-Z24) (ZN)—-Z24) (ZN)—-Z24) (ZN)—-Z24) (ZN)—-Z24) (ZN)—-Z24) (ZN)—-Z24) (AN—-Z2%) (ZN)—-Z24)
58 iR | 458% 55 = 55 = 55 = 55 = 55 = 55 =] 55 = 55 = 55 =
9H18|N 1 -50 3 11 -110 -16 6 20 -70 0 -69 -34 4 1 -100 -80 0 -29 -19
9H2H|K 1 -50 3 11 -110 -16 6 20 -70 0 -69 -34 4 1 -100 -80 0 -29 -19
9A3H|A 3 -50 3 11 -110 -16 6 20 -69 0 -70 -34 4 1 -99 -80 0 -29 -19
9H4H|& 1 -53 7 11 -109 -16 6 23 -72 0 -68 -34 4 1 -99 -80 0 -29 -19
9H5H|L 1 -53 7 11 -109 -16 6 23 -72 0 -68 -34 4 1 -99 -80 0 -29 -19
9H6H|H
9B78(8
9H8H|NX 1 -53 7 11 -108 -16 6 23 -72 0 -67 -34 4 1 -99 -80 0 -29 -19
9H9H [k 1 -52 7 11 -106 -16 6 23 -72 0 -67 -33 4 1 -99 -80 0 -28 -18
9H108 (A& 3 -52 7 11 -106 -16 6 23 -72 0 -67 -34 4 1 -99 -80 0 -28 -18
9H11H|& 1 -52 7 11 -105 -16 6 23 -72 0 -67 -34 4 1 -99 -80 0 -28 -18
9H12H|L 1 -53 7 11 -109 -16 6 23 -72 0 -68 -34 4 1 -99 -80 0 -29 -19
9H13H(H
9H14H(A
9H158| N 1 -53 7 11 -109 -16 6 23 -72 0 -68 -34 4 1 -99 -80 0 -29 -19
9H16H (K 1 -53 7 11 -109 -16 6 23 -72 0 -68 -34 4 1 -98 -80 0 -29 -19
9H17H|XK 3 -53 7 11 -109 -16 6 23 -71 0 -68 -34 4 1 -98 -79 0 -29 -19
9H18H|& 1 -53 7 11 -109 -16 6 23 -71 0 -68 -34 4 1 -98 -79 0 -29 -19
9H19H (L 1 -53 7 11 -109 -16 6 23 -72 0 -68 -34 4 1 -99 -80 0 -29 -19
9H20H(H
9H21H|A8
9H228|N 1 -52 7 11 -108 -15 6 23 -71 0 -67 -34 4 1 -98 -80 0 -29 -19
9H23H |k 1 -52 7 11 -107 -15 6 23 -71 0 -67 -34 4 1 -98 -80 0 -29 -19
9H24H (K 3 -51 7 11 -108 -15 6 23 -71 0 -66 -34 4 1 -98 -80 0 -29 -19
9H25H (& 1 -51 7 11 -108 -15 6 23 -71 0 -66 -34 4 1 -98 -80 0 -29 -19
9826H |t 1 -52 7 11 -108 -15 6 23 -71 0 -66 -34 4 1 -98 -81 0 -29 -19
9827H(H
9H28H|A
9H298 | N 1 -52 7 11 -109 -15 6 23 -72 0 -67 -34 4 1 -99 -81 0 -29 -19
98308 K 1 -53 7 11 -109 -16 6 21 -70 0 -68 -34 4 1 -99 -80 0 -29 -19

XTSHOEERE. RS2 2RIEEBNSFREL. BARRFRI7E (EREFETAI6R) 2FWISECH5EN2E ETY. (REHOH3BDIMISENET,)
XAREI-RFL0BEE R, AN -2J -1 HBEEAOEERTY,




2T RA LA~

B = Elle] i -+ 00 =0 2 =0 s=lvl [+ ] HEi+l e b ]
MVaYS /B FRIL/NZRIL Z1ZX/H KRV ZAR 1-0/NZRL | IRV R/ BFHFRIL FRIL/ZAX 1-0/hF9RIL 1-0/Z1X TRV R/NZRIL
(ZANJ=2>7) (ZNJ=2>) (ZANJ=2>7) (ZANJ=2>7) (ZANJ=2>7) (ZN=2%) (ZANJ=22) (ZANJ=2>) (ZANJ=22) (ZANJ=22)
M58 e | 458%| 7 = 7 8 7 = 7 8 7 = 7 8 7 8 7 8 7 8 7 £l
9H1H|X 1 -35 9 -14 -48 4 -401  -104 30 14 -79 2 -53 -54 6 8 -64 -78 1 -12 -54
9H2H|K 1 -35 9 -14 -48 4 -40(  -104 30 14 -79 2 -53 -54 6 8 -63 -78 1 -12 -54
9HA3H([A 3 -35 9 -14 -48 4 -401  -104 30 14 -78 2 -53 -54 6 8 -63 =77 1 -12 -54
9R4H|& 1 -32 6 -14 -47 4 -40(  -104 30 14 -78 3 -53 -53 6 8 -63 =77 1 -12 -53
9H5H|L 1 -32 6 -14 -47 4 -401  -104 30 14 -78 3 =53 =53 6 8 -63 =i/ 1 -12 -53
9H6H|H
9R7H(A
9H8H|X 1 -32 6 -14 -47 4 -40(  -104 30 14 -78 3 -52 -53 6 8 -63 =77 1 -12 -52
9H9H|K 1 -32 6 -14 -46 4 -401  -104 30 14 -78 3 -52 -52 6 8 -63 =77 1 -12 -52
9H108|K 3 -32 6 -14 -47 4 -40(  -104 30 14 -78 3 -52 -53 6 8 -63 =77 1 -12 -52
9A11H|& 1 -32 6 -14 -47 4 -401  -104 30 14 -78 3 -51 -53 6 8 -63 =77 1 -12 -51
9H12H |+ 1 -46 20 -14 -47 4 -40(  -104 30 14 -78 3 =53 =53 6 8 -63 =11 1 -12 -53
9H13H|H
9H14H|H
9H158| X 1 -46 20 -14 -47 4 -401  -104 30 14 -78 3 -53 -53 6 8 -63 =77 1 -12 -53
9H16H|K 1 -45 20 -14 -47 4 -40(  -103 30 14 -78 3 -53 -53 6 8 -63 =77 1 -12 -53
9H17H|K 3 -45 20 -14 -47 4 -401  -103 30 14 =77 3 -53 -53 6 8 -62 -76 1 -12 -53
9H18H|& 1 -45 19 -14 -47 4 -40(  -103 30 14 =77 3 -53 -53 6 8 -62 -76 1 -12 -53
9H198H|x 1 -46 20 -14 -47 4 -401  -104 30 14 -78 3 =53 =53 6 8 -63 =77 1 -12 -53
9H20H|H
9H21H|H
9H228|X 1 -45 20 -14 -46 4 -40(  -104 30 14 =77 3 -52 -52 6 8 -62 -76 1 -12 -52
9H23H|K 1 -45 20 -14 -46 4 -401  -104 30 14 =77 3 -52 -52 6 8 -62 -76 1 -12 -52
9H24H|K 3 -45 20 -14 -46 4 -40(  -105 30 14 =77 3 -52 -51 6 8 -62 -76 1 -12 -52
9R25H|& 1 -46 20 -14 -46 4 -39 -105 30 14 =77 3 -52 -51 6 8 -62 -76 1 -12 -52
9H26H |t 1 -46 20 -14 -45 4 =89 =103 30 14 =77 3 =572 =Bl 6 8 -62 -76 1 -12 -52
9H27H|H
9H28H|A
9H298 | X 1 -45 19 -14 -46 4 -401  -105 30 14 -78 3 -53 -52 6 8 -63 =77 1 -12 -53
9H308 |k 1 -41 15 -14 -47 4 -40(  -104 30 14 -78 3 -53 -53 6 8 -63 =77 1 -12 -53

XTSHOEERE. RS2 2RIEEBNSFREL. BARRFRI7E (EREFETAI6R) 2FWISECH5EN2E ETY. (REHOH3BDIMISENET,)
XAREI-RFL0BEE R, AN -2J -1 HBEEAOEERTY,




2T RA LA~ XAREI-2F10BEEHID. AN -2J1-XE1HBEHDOEREETY .

B = == B I il £ i+l E-Alel
TRV R/ZAR R/ AFFRIL NZRIL/ZAX NZRIL/AFFRIL £ERY/H
(ZNJ=22) (ZN=2%) (ZNJ=22) (ZN-=2%) (ZANJ=2>7)
M58 e | 458% | % 8 75 85 75 8 75 £ 75 £
9H1H|X 1 -67 12 -2 -43 -87 12 0 -38 -13 6
9H2H|K 1 -67 12 -2 -43 -88 12 0 -38 -13 6
9HA3H([A 3 -67 12 -2 -43 -88 12 0 -38 -13 6
9R4H|& 1 -66 12 -2 -42 -85 12 0 -37 -13 6
9H5H|L 1 -66 12 -2 -42 -86 12 0 =37 =113 6
9H6H|H
9R7H(A
9H8H|X 1 -65 12 -2 -42 -85 12 0 -37 -13 6
9R9H|K 1 -64 12 -2 -41 -84 12 0 -36 -13 6
9H108|K 3 -64 12 -2 -42 -85 12 0 -37 -13 6
9A11H|& 1 -63 12 -2 -42 -85 12 0 -36 -13 6
9H12H |+ 1 -66 12 =2 -42 -86 12 0 =87 =13 6
9H13H|H
9H14H|H
9R15H|X 1 -66 12 -2 -42 -86 12 0 -37 -13 6
9H16H|K 1 -66 12 -2 -42 -86 12 0 -37 -13 6
9H17H|X 3 -66 12 -2 -42 -86 12 0 -37 -13 6
9H18H|& 1 -66 12 -2 -42 -86 12 0 -37 -13 6
9H198H|x 1 -66 12 -2 -42 -86 12 0 =37 =113 6
9H208|H
9H21H|H
9H228|X 1 -65 12 -2 -41 -84 12 0 -36 -13 6
9R23H|K 1 -65 12 -2 -41 -84 12 0 -36 -13 6
9H24H|K 3 -65 12 -2 -41 -84 12 0 -36 -12 6
9R25H|& 1 -65 12 -2 -41 -84 12 0 -36 -12 6
9H26H |t 1 -65 12 =2 -41 -84 12 0 -36 =112 6
9H27H|H
9H28H|H
9H29H| X 1 -66 12 -2 -41 -84 12 0 -36 -12
9H308 |k 1 -66 12 -2 -42 -85 11 0 -37 -13

XTSHOEERE. RS2V 2RTEEBANSFEL. BARREFRI 78 (EREHITRI6R)
ZERVWHSAICNS5EN2EEETY. (REBO#H3EDMISENET,)




